

$$\square + \square + \square - (\square + \square) = \square$$

$$(\square + \square) - \square + \square - \square = \square$$

$$\square + (\square + \square - \square) - \square = \square$$

$$\square \times (\square + \square) - \square + \square = \square$$

$$(\square + \square) - (\square - \square) \times \square = \square$$

$$\square \times \square - \square - (\square + \square) = \square$$

$$(\square + \square \times \square) - \square \times \square = \square$$

$$\square - \square + (\square + \square \times \square) = \square$$